60-s bins
15 4
(]
E]
10 E=
=]
©
|
5 =
0 T T T
100:00.000 _ _ 11.00.000 _ 10:00.000
_g7T04:00:9% 2" 0106:00:9% 7" 0 108:00:
2024-03 07 2024-03 07 2024-03 07
Time (utc)
60-s bins
15 4
(]
E]
10 E=
=]
©
|
5 =
0 T T T
100:00.000 __ 11.00.000 _ 10:00.000
7704:00:9% 27 0r06:00:00 7 "1 708:00:
2024-03 07 2024-03 07 2024-03 07
Time (utc)
60-s bins
15 4
(]
E]
10 E=
=]
©
|
5 =
0 T T T
.00.000 . 00 .00.000
; 0'2?62—07 06:00:00-07% +4:00:00:0

77040
2028030777, 05

2024-03

Time (utc)

80901347002 FPMA: No SAA Filter

10.72-ks, 100%

5.0 _
2.5 1
0.0 '\_\
-2.5
-5.0 —H'"x. -
T T T T T T T
0 50 100 150 200 250 300 350
Longitude
--saacalc=1 -saamode=0PTIMIZED --tentacle=no 10.66-ks, 99%
5.0 _
2.5 1
0.0 '\_\
-2.5
5.0 4™
T T T T T T T
0 50 100 150 200 250 300 350
Longitude
--saacalc=1 -saamode=0PTIMIZED --tentacle=yes 10.66-ks, 99%
5.0 _
2.5 1
0.0 '\_\
-2.5
5.0 4™
T T T T T T T

150 200 250

Longitude

100

o
w
o

300

350

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
15 +
[
E
10 =
=}
©
1
5 =
0 T T T
.00: .00:00 100:00.000
,024-03-07T0% 54030710800 43-07708:0°
Time (utc)
60-s bins
15
[
E
10 =
=}
©
1
5 =
0 T T T
00
-00: 00:00: :00:000
,024-03-077 -O7T06 20240 07708
Time (utc)
60-s bins
15
[
E
10 =
=}
©
1
5 =
0 T T
.00:00.000 100:00.000 100:00.000
,024-03-0770% Doz °7T06'0262A-03-07T°8'00'

Time (utc)

5.0
2.5
0.0
-2.5
-5.0

5.0
2.5
0.0
-2.5
-5.0

5.0
2.5
0.0
-2.5
-5.0

NI

80901347002 FPMA: No SAA Filter

10.72-ks, 100%

N

—
.,

.
T T T T T T
0 50 100 150 200 250 300 350
Longitude
--saacalc=1 -saamode=STRICT --tentacle=no  9.62-ks, 90%

A
/70

T T T
50 100 150 200
Longitude

o

--saacalc=1 -saamode=STRICT --tentacle=yes

T T
250 300 3

o
o

9.62-ks, 90%

: mﬁﬁm

/./f’,//

T T T
100 150 200

Longitude

o
w
o

T T
250 300 3

o
o

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
15 +
[
©
10 + 2
B=]
©
1
5 =
0 T T T
.00: -00 100:00.000
,024-03-07T0% o A 6'02{)024 7708:00:0
Time (utc)
60-s bins
15 +
[
©
10 + 2
B=]
©
1
5 =
0 T T T
.00.000 .00.000
8 :00.000 -00:00-
zo?.L\-‘)?"o_’T 3-0770° 024-03'°7T08
Time (utc)
60-s bins
15 +
[
©
10 2
B=]
©
1
5 =
0 T T T
0.000 00.000 08:00:00.000

.00:0
704:00:
024-03077, 020.0

-00:0Y-
3_0‘]T06 2024_03_07T

Time (utc)

80901347002 FPMA: No SAA Filter

10.72-ks, 100%

u
o
1

0.0 +
—2.5
-5.0

o

Z

T T T
150 200 250

Longitude

50 100

--saacalc=2 -saamode=0PTIMIZED --tentacle=no

300

2/

10.72-ks, 100%

5.0 +
2.5 1
0.0 +
2.5
=5.0

7

o

T T T
150 200 250

Longitude

50 100

--saacalc=2 -saamode=0PTIMIZED --tentacle=yes

T
300

2/

10.72-ks, 100%

5.0 H

2.5 1

0.0 +

—2.5

=5.0

7

m

o

T T T
250

150 200
Longitude

100

T
300

350

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
15 +
[
E
10 =
S
©
1
5 =
0 T T T
.00 .00:00 100:00.000
,024-03-07T0% 00 - 03-07T06:00 7708:00
Time (utc)
60-s bins
15 A
[
=l
10 + 2
S
©
1
5 =
0
.00:00- 00. 100:00.000
zozA-03'°7T o 24-0 7708 02024-0 07708:00
Time (utc)
60-s bins
15 A
[
=l
10 + 2
S
©
1
5 =
0 T
.00.000 .00.000 .00.000
024 03-°7T°A:00520A 03-07T°6:00§;4 03.07708:00:%°
2024- 2024- 2024

Time (utc)

80901347002 FPMA: No SAA Filter

10.72-ks, 100%

u
o
1

0.0 +

—2.5

=5.0

o

Z

100 150 200 250

Longitude

--saacalc=2 -saamode=STRICT --tentacle=no

]

300 350

9.47-ks, 88%

5.0 +

2.5 1

0.0 +

—2.5

=5.0

7

=

N
N

o

T T T T
100 150 200 250

Longitude

50

--saacalc=2 -saamode=STRICT --tentacle=yes

T T
300 350

9.47-ks, 88%

5.0 H

2.5 1

0.0 +

—2.5

=5.0

7

/ §§ 4

—

o

T T T T
100 150 200 250

Longitude

T T
300 350

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
15 +
[
©
10 + 2
B=]
©
1
5 =
0 T T T
.00: -00 100:00.000
,024-03-07T0% o A 6'02{)024 7708:00:0
Time (utc)
60-s bins
15 +
[
©
10 + 2
B=]
©
1
5 =
0 T T T
.00.000 .00.000
8 :00.000 -00:00-
zo?.L\-‘)?"o_’T 3-0770° 024-03'°7T08
Time (utc)
60-s bins
15 +
[
©
10 2
B=]
©
1
5 =
0 T T T
0.000 00.000 08:00:00.000

.00:0
704:00:
024-03077, 020.0

-00:0Y-
3_0‘]T06 2024_03_07T

Time (utc)

80901347002 FPMA: No SAA Filter

10.72-ks, 100%

u
o
1

0.0 +
—2.5
-5.0

o

Z

T T T
150 200 250

Longitude

50 100

--saacalc=3 -saamode=0PTIMIZED --tentacle=no

300

2/

10.72-ks, 100%

5.0 +
2.5 1
0.0 +
2.5
=5.0

7

o

T T T
150 200 250

Longitude

50 100

--saacalc=3 -saamode=0PTIMIZED --tentacle=yes

T
300

2/

10.72-ks, 100%

5.0 H

2.5 1

0.0 +

—2.5

=5.0

7

m

o

T T T
250

150 200
Longitude

100

T
300

350

10°

10°

10°

cts/sec

cts/sec

cts/sec



60-s bins
15 +
[
E
10 =
S
©
1
5 =
0 T T T
.00 .00:00 100:00.000
,024-03-07T0% 00 - 03-07T06:00 7708:00
Time (utc)
60-s bins
15 A
[
=l
10 + 2
S
©
1
5 =
0
.00:00- 00. 100:00.000
zozA-03'°7T o 24-0 7708 02024-0 07708:00
Time (utc)
60-s bins
15 A
[
=l
10 + 2
S
©
1
5 =
0 T
.00.000 .00.000 .00.000
024 03-°7T°A:00520A 03-07T°6:00§;4 03.07708:00:%°
2024- 2024- 2024

Time (utc)

80901347002 FPMA: No SAA Filter

10.72-ks, 100%

u
o
1

0.0 +

—2.5

=5.0

o

Z

100 150 200 250

Longitude

--saacalc=3 -saamode=STRICT --tentacle=no

]

300 350

9.47-ks, 88%

5.0 +

2.5 1

0.0 +

—2.5

=5.0

7

=

N
N

o

T T T T
100 150 200 250

Longitude

50

--saacalc=3 -saamode=STRICT --tentacle=yes

T T
300 350

9.47-ks, 88%

5.0 H

2.5 1

0.0 +

—2.5

=5.0

7

/ §§ 4

—

o

T T T T
100 150 200 250

Longitude

T T
300 350

10°

10°

cts/sec

cts/sec

cts/sec



